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System Test Response

Test4s — 1013.2091.3091 Pass

Test46 — 101320913092 | FPass

Testd7 — 1019.2091.3093 ||  Pass

Test4g — 101320913094 |  Fass

Test43 — 1013.2092.3091 Fass

Test50 — 1013,2092.3092 Fail ATt HF0] EFF58l Test 29T

Test51 — 1015.2092.3053 Fail A TF HH0] E7I550 Test =T

Tests2 — 1019.2092.3094 AJZF B1H0| B7tEal Test 271

Test52 — 1012.2093.3131 Pass

Test54 — 1020.2101.3101 Pass

Testss — 1020.2101.3102 Pass

Test56 — 1020.2101.3103 Pass

Tests7 — 1021.2111.3111 Pass

Test58 — 1021.2111.3113 Pass

Test53 — 1021.2112.3113

Tests0 — 1021.2113.3112 Fail FitnessM| 4] Pause/Continue?} 2HEl Oi7} 212,

Testél — 1021.2113.3113 Fail Fitness™l 4| Pause/Continue?} OtE I§7} o2,
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Test63 — 1021.2114.3113 Fail FinesliN] Fnsh/} Eﬁ;&ﬂi =% ol wa /Ay

Teste4 — 1021.2115.3131 Pass

Testes — 1022.2121.3121 Pass

Teste6 — 1022.2121.3122 Pass

Teste7 — 1022.2122.3121 Pass

Teste® — 1022.2122.3123 Pass

Testsd — 1022.2123.3121 Pass

Test70 - 1022.2123.3124 Pass

Test?1 — 4011 HE20W select function?] +7} 67§ Ck.

Test72 - 4012 Fail 3747 O E H=E 4 o,

- Pazs - _
FH Test Case 7274 277} Pazz Percentage 37.5%

Testd1 - 2062 Pass
Testd2 — 2073 Stopwatch 7|5 Oj7H
Testd3 - 2102 Pass
Testd4 — 1011.2011.3131 TimekeepingM| 4] SE7 8] S=Ct
Test05 - 1012.2021.3021 Fal | Timekeepingt] A 20| BFAX| g=Ch
Test06 — 101220212022 Fal | Timekeepingl] A 20| BFAX] gEr)
Testd7 — 1012.2021.3023 TimekeepingHl ] 5% A|7H12~23)22 HFRZE] =Lt
Test0s - 1012.2021.3024 Pass
Test09 — 1012.2021.3025 Pass
Test10 - 1013.2031.3031 Timer 5 2H3,
Test11 — 1012.2031.3032 Fail Timer ZHE 2HEL
Test12 - 1013.2031.3034 Fail Timer & 243,
Test12 — 1012.2032.30332 Fail Timer ZHE 2HEL
Test14 — 1013.2032.3035 Fail Timer 5 2HE,
Test15 - 1013.2033.3043 Fail Timer ZH5 2H3f,
Test16 — 1012.2032.3032 Fail Timer ZHE 2HEL
Test17 - 1013.2033.3034 Fail Timer 5 2H3,
Test18 — 1012.2034.30332 Fail Timer ZHE 2HEL
Test19 - 1013.2034.3035 Fail Timer & 243,
Test20 - 1013.2035.3131 Fail Timer & 043
Test21 — 1014.2041.3041 Fail Timer & 2HEL
Test22 - 1014.2041.3042 Fail Timer & 043,
Test23 — 1014.2041.3043 i Timer ZHE 2HEL
Test24 - 1015.2051.3051 Pass
Test25 — 1015.2052.3051 Alarm list SH7F HA4EHoZ o g
Test26 — 1015.2053.2051 Fail Alarm =% 750] @2,
Test27 - 1015.2053.3052 Fail Buzzer BF OH
Test28 — 1015.2052.3053 Fail Buzzer BF CHEL
Test29 — 1015,2054.2051 Fail Alarm H|EE% 750] 22,
Test30 — 1015.2054.3054 : | Alarm H|Z4% 7s0] 2L,
Test31 - 101520553131 Pass
. SYUE 4=z B0 F72 3oz 2 O] 29=
Test32 - 1016.2061.3063 Fail sot 2 = ge.
Test3Z - 1016.2061.3062 F7& 022 2% & + @2,
Test34 — 1016.2061.3063 Pass
Test35 — 1016.2061.3064 Pass
Test36 — 1017.2071.3071 Stopwatch TE OHEL
Test37 — 1017.2072.0 Fail Stopwatch ZHE 2HE.
Test38 - 1017.2074.3072 Fail Stopwatch TE OHEL
Test39 — 1017.2075.3071 Fail Stopwatch ZHE 2HE.
Test40 - 1017.2076.3072 Fail Stopwatch TE OHEL
Test41 — 1017.2077.3131 Fail Stopwatch ZHE 2HE.
Test42 — 1018.2081.3081 Fail Stopwatch ZHE 2HE.
Test43 - 1018.2082.3081 Fail Stopwatch TE OHEL
Test44 — 1018.2082.3081 Fail Stopwatch ZHE 2HE.
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=> 7+¢l 0| 2kd




System Test Response

ISSUE_TRACKING ¥ SV3SMAG6 Free

P12 : X7} 22|10, Timer BX| 4
EfO| A, RfA|ZHEE 4= Qict

A Team Visible M'a Invite -

Todo : Build Result Todo : Static Analysis Result

B36 : CTIP_SMA 6 : FAILURE N -+ Add a card

C11: Timer A O]

C16 : Timer A O]

C17 : Timer A O]

-+ Add another card

Doing

P22 : H{ X7} 2|11, DDay & 83t
AEJOI A, 2|AEE =HQIEE 4= Qirt

®© = YH

B9: D+DaylilM 282 28slis1
set Timekeeping= S5l A|[ZtS HE
FASM S AMS=R] A

® YH

B8 : AlarmQ| £X 22|& Al7tg &
= T O|"HA SESH=X| HAE

® YH

C30: Alarm H|ZHd 217t O| 2 0{ X[ X|
orr}
| ¢ .

® YH

P5: Alarm 2-d=t SE{O A, BlES
=7t 27ks ottt

®

-+ Add another card

*+«= Show Menu

4EED

g B4:D+Day OlM W& AAXE o
HLX| HAL

® 1 YH

B5:D+Day HlM HE JAXE &
Hae o YARo2 SESH=X|
BAL

® 1 YH

B7 : Timer2| X 22|&= AIZHES &
= F oA SESH=X| HAE

KS

C25: Alarm Y78 ANt HAE o2
O|RO{X|X| =Lt

© = 1 YH
C26 : Alarm 28317} O| 20| X| X| S
g

® L1

-+ Add another card




System Test Response

01) Timekeeping

=A| P10 : Timekeeping 2| S0IA AZHE S &< = giCH

CHE M, & =22 2F 0 222 HES 728 req_setTime()2H+= = E0ITS
S

Al C4 : TimeKeeping W = 8 & 0| 2Jt=5HCt
C5 : TimeKeeping 2 & & 0| 2J=GHCL
C5 : TimeKeeping & & & 0| 2JH=GHCL

= o2, 29 48 = 0FAIH req_setDate()&t =S =0T = it

= Al C7 : TimeKeepingUllA4 12-234 2 & & Q| EJF=01CH

= Timekeeping=22l 20| 2f2 22 [, Calendar. HOUR(12A|2+ &2[) O] O
Calendar.HOUR OF DAY(24 A2+ =)




System Test Response
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Thank you.




